
TECHNICAL SPECIFICATIONS
POWER REQUIREMENTS Self-powered via Haptic Bridge

DIMENSIONS 127 x 146.01 x 31.75mm (5 x 1.81 x 1.25”)

WEIGHT 182g (0.4lb)

STANDARD OPERATING TEMPERATURE RANGE 5°C - 40°C (41°F - 104°F)

UNLEASH THE FULL POTENTIAL OF YOUR G5 HAPTIC SYSTEM WITH MULTIPLE CONNECTIVITY 
OPTIONS. WHEN CONNECTED TO THE G5 HAPTIC BRIDGE, THE G5 HAPTIC EXPANDER ALLOWS 
YOU TO CONNECT ADDITIONAL HAPTIC ACTUATORS, BRINGING YOU UP TO SEVEN (7) TOTAL 
FOR AN EXTRA IMMERSIVE EXPERIENCE! 

�	 Compatible with G5 haptic systems.

�	 Optional add-on not included with the purchase of a G5 haptic 
        system.

�	 Allows you to go up to seven (7) Haptic Actuators giving you 
       the potential for 6 degrees of freedom.

�	 No driver installation required. Easy user configuration via 
       the D-BOX System Configurator.

FEATURES

PART LIST

DESCRIPTIONREVPART NUMBERQTYITEM

BOARD ASSY, HAPTIC EXPANDER, 4 
PORTS

A02252-211-000111

HOUSING, HAPTIC EXPANDER, 4 PORTSB01252-130-000212
COVER, HAPTIC EXPANDER, 4 PORTSC01252-130-000313
BRACKET, HAPTIC EXPANDER, 4 PORTSA01252-130-000524
SCREW, RNDH, QUADREX, #6-32 X 3/8, 
BLACK ZINC

 000-100-0048-Z0045

SCREW, FLAT HEAD, PHILIPS, #2-56 X 
3/16" LG, BLACK ZINC

 000-100-0308-Z0046

SCREW, SOCK.HEAD, CAP, #4-40 X 1/4 000-100-0311-Z0047
LABEL, MINI, S/N, PRODUCT (D-BOX 
PRINTED)

 000-183-2073-Z0018

LABEL, REV (D-BOX PRINTED) 183-004519
CABLE, ETHERNET, SHIELD, MOLDED, 
BLACK, CAT6E,  3FT 26AWG RJ45 (NOT 
SHOWN)

 000-090-0114-Z00 110

PK BOX, MFX-ILC INTENSITY LEVEL 
CONTROL SWITCH (NOT SHOWN)

 560-0005111

LABEL, LARGE, S/N, PRODUCT 
DESCRIPTION, PK BOX (D-BOX PRINTED) 
(NOT SHOWN)

 000-183-2075-Z00112

12345678

A

C
:\W

S
_D

B
ox

\D
es

ig
ns

\2
52

_H
A

P
TI

C
_E

X
P

A
N

D
E

R
_G

5 
(6

D
O

F)
\2

52
-2

02
-0

00
4.

id
w

8 7 6 5 4 3 2 1

B

C

D

A

B

C

D

1 
FEUILLE/SHEET

D-BOX TECHNOLOGIES INC.

1 

D-BOX PART NUMBER

SUBASSY, HAPTIC EXPANDER, 4 PORTS

LONGUEUIL, QUÉBEC, CANADA

/

DESCRIPTION

NO. DESSIN/DWG. NO

SIZE

B
ECH./SCALE

3 : 4

252-911-0004-B01

252-202-0004-B01

REVISION

B01

22-06-2023S.BOULAIS
DATE (dd-mm-yyyy)

DATE (dd-mm-yyyy)

DATE (dd-mm-yyyy)

DESSINÉ/DRAWN

VÉRIFIÉ/CHECKED

APPROUVÉ/APPROVED

822-N004

AVIS : Ce dessin contient des renseignements qui peuvent être confidentiels ou soumis au secret professionnel. Si vous n'êtes pas le véritable destinataire,
la diffusion ou l'usage de ce dessin, des renseignements qu'il contient pourrait être illégal. Il est donc strictement interdit de les diffuser ou de les utiliser. Si 
vous avez reçu ce dessin par erreur, nous vous saurions gré d'en aviser l'expéditeur immédiatement et de le supprimer sans le lire, l'imprimer, le 
sauvegarder ou le diffuser. Nous vous remercions de votre aimable collaboration.
 
NOTICE: This drawing contains information that may be confidential or solicitor/client privileged. If you are not the intended recipient, any disclosure or other
use of this drawing or the information contained herein may be unlawful and is strictly prohibited. If you have received this drawing in error, please notify the 
sender immediately and delete this e-mail without reading, printing, copying or forwarding it to anyone. Thank-you for your kind cooperation.

CONFIDENTIAL

6

3

7

4

2

5

1

1.25 [31.75 mm]

5.00 [127.00 mm]

1.
81

 [4
6.

01
 m

m
]

4.57 [116.00 mm]

0.60 [15.20 mm]

0.20 [5.20 mm]

8

9

REVISION HISTORY
REV ZONE DETAIL APPROVED DATE
B01  SILKSCREEN CHANGED ON COVER S.B. 05-09-2023

PART LIST

DESCRIPTIONREVPART NUMBERQTYITEM

BOARD ASSY, HAPTIC EXPANDER, 4 
PORTS

A02252-211-000111

HOUSING, HAPTIC EXPANDER, 4 PORTSB01252-130-000212
COVER, HAPTIC EXPANDER, 4 PORTSC01252-130-000313
BRACKET, HAPTIC EXPANDER, 4 PORTSA01252-130-000524
SCREW, RNDH, QUADREX, #6-32 X 3/8, 
BLACK ZINC

 000-100-0048-Z0045

SCREW, FLAT HEAD, PHILIPS, #2-56 X 
3/16" LG, BLACK ZINC

 000-100-0308-Z0046

SCREW, SOCK.HEAD, CAP, #4-40 X 1/4 000-100-0311-Z0047
LABEL, MINI, S/N, PRODUCT (D-BOX 
PRINTED)

 000-183-2073-Z0018

LABEL, REV (D-BOX PRINTED) 183-004519
CABLE, ETHERNET, SHIELD, MOLDED, 
BLACK, CAT6E,  3FT 26AWG RJ45 (NOT 
SHOWN)

 000-090-0114-Z00 110

PK BOX, MFX-ILC INTENSITY LEVEL 
CONTROL SWITCH (NOT SHOWN)

 560-0005111

LABEL, LARGE, S/N, PRODUCT 
DESCRIPTION, PK BOX (D-BOX PRINTED) 
(NOT SHOWN)

 000-183-2075-Z00112

12345678

A

C
:\W

S
_D

B
ox

\D
es

ig
ns

\2
52

_H
A

P
TI

C
_E

X
P

A
N

D
E

R
_G

5 
(6

D
O

F)
\2

52
-2

02
-0

00
4.

id
w

8 7 6 5 4 3 2 1

B

C

D

A

B

C

D

1 
FEUILLE/SHEET

D-BOX TECHNOLOGIES INC.

1 

D-BOX PART NUMBER

SUBASSY, HAPTIC EXPANDER, 4 PORTS

LONGUEUIL, QUÉBEC, CANADA

/

DESCRIPTION

NO. DESSIN/DWG. NO

SIZE

B
ECH./SCALE

3 : 4

252-911-0004-B01

252-202-0004-B01

REVISION

B01

22-06-2023S.BOULAIS
DATE (dd-mm-yyyy)

DATE (dd-mm-yyyy)

DATE (dd-mm-yyyy)

DESSINÉ/DRAWN

VÉRIFIÉ/CHECKED

APPROUVÉ/APPROVED

822-N004

AVIS : Ce dessin contient des renseignements qui peuvent être confidentiels ou soumis au secret professionnel. Si vous n'êtes pas le véritable destinataire,
la diffusion ou l'usage de ce dessin, des renseignements qu'il contient pourrait être illégal. Il est donc strictement interdit de les diffuser ou de les utiliser. Si 
vous avez reçu ce dessin par erreur, nous vous saurions gré d'en aviser l'expéditeur immédiatement et de le supprimer sans le lire, l'imprimer, le 
sauvegarder ou le diffuser. Nous vous remercions de votre aimable collaboration.
 
NOTICE: This drawing contains information that may be confidential or solicitor/client privileged. If you are not the intended recipient, any disclosure or other
use of this drawing or the information contained herein may be unlawful and is strictly prohibited. If you have received this drawing in error, please notify the 
sender immediately and delete this e-mail without reading, printing, copying or forwarding it to anyone. Thank-you for your kind cooperation.

CONFIDENTIAL

6

3

7

4

2

5

1

1.25 [31.75 mm]

5.00 [127.00 mm]

1.
81

 [4
6.

01
 m

m
]

4.57 [116.00 mm]

0.60 [15.20 mm]

0.20 [5.20 mm]

8

9

REVISION HISTORY
REV ZONE DETAIL APPROVED DATE
B01  SILKSCREEN CHANGED ON COVER S.B. 05-09-2023

PART LIST

DESCRIPTIONREVPART NUMBERQTYITEM

BOARD ASSY, HAPTIC EXPANDER, 4 
PORTS

A02252-211-000111

HOUSING, HAPTIC EXPANDER, 4 PORTSB01252-130-000212
COVER, HAPTIC EXPANDER, 4 PORTSC01252-130-000313
BRACKET, HAPTIC EXPANDER, 4 PORTSA01252-130-000524
SCREW, RNDH, QUADREX, #6-32 X 3/8, 
BLACK ZINC

 000-100-0048-Z0045

SCREW, FLAT HEAD, PHILIPS, #2-56 X 
3/16" LG, BLACK ZINC

 000-100-0308-Z0046

SCREW, SOCK.HEAD, CAP, #4-40 X 1/4 000-100-0311-Z0047
LABEL, MINI, S/N, PRODUCT (D-BOX 
PRINTED)

 000-183-2073-Z0018

LABEL, REV (D-BOX PRINTED) 183-004519
CABLE, ETHERNET, SHIELD, MOLDED, 
BLACK, CAT6E,  3FT 26AWG RJ45 (NOT 
SHOWN)

 000-090-0114-Z00 110

PK BOX, MFX-ILC INTENSITY LEVEL 
CONTROL SWITCH (NOT SHOWN)

 560-0005111

LABEL, LARGE, S/N, PRODUCT 
DESCRIPTION, PK BOX (D-BOX PRINTED) 
(NOT SHOWN)

 000-183-2075-Z00112

12345678

A

C
:\W

S
_D

B
ox

\D
es

ig
ns

\2
52

_H
A

P
TI

C
_E

X
P

A
N

D
E

R
_G

5 
(6

D
O

F)
\2

52
-2

02
-0

00
4.

id
w

8 7 6 5 4 3 2 1

B

C

D

A

B

C

D

1 
FEUILLE/SHEET

D-BOX TECHNOLOGIES INC.

1 

D-BOX PART NUMBER

SUBASSY, HAPTIC EXPANDER, 4 PORTS

LONGUEUIL, QUÉBEC, CANADA

/

DESCRIPTION

NO. DESSIN/DWG. NO

SIZE

B
ECH./SCALE

3 : 4

252-911-0004-B01

252-202-0004-B01

REVISION

B01

22-06-2023S.BOULAIS
DATE (dd-mm-yyyy)

DATE (dd-mm-yyyy)

DATE (dd-mm-yyyy)

DESSINÉ/DRAWN

VÉRIFIÉ/CHECKED

APPROUVÉ/APPROVED

822-N004

AVIS : Ce dessin contient des renseignements qui peuvent être confidentiels ou soumis au secret professionnel. Si vous n'êtes pas le véritable destinataire,
la diffusion ou l'usage de ce dessin, des renseignements qu'il contient pourrait être illégal. Il est donc strictement interdit de les diffuser ou de les utiliser. Si 
vous avez reçu ce dessin par erreur, nous vous saurions gré d'en aviser l'expéditeur immédiatement et de le supprimer sans le lire, l'imprimer, le 
sauvegarder ou le diffuser. Nous vous remercions de votre aimable collaboration.
 
NOTICE: This drawing contains information that may be confidential or solicitor/client privileged. If you are not the intended recipient, any disclosure or other
use of this drawing or the information contained herein may be unlawful and is strictly prohibited. If you have received this drawing in error, please notify the 
sender immediately and delete this e-mail without reading, printing, copying or forwarding it to anyone. Thank-you for your kind cooperation.

CONFIDENTIAL

6

3

7

4

2

5

1

1.25 [31.75 mm]

5.00 [127.00 mm]

1.
81

 [4
6.

01
 m

m
]

4.57 [116.00 mm]

0.60 [15.20 mm]

0.20 [5.20 mm]

8

9

REVISION HISTORY
REV ZONE DETAIL APPROVED DATE
B01  SILKSCREEN CHANGED ON COVER S.B. 05-09-2023

252-914-0001-EN1  |  October 2023

Haptic Expander – HX4

HAPTIC EXPANDER – HX4



WIRING DIAGRAMS

*See G5 User Guide for all possible configurations

1FRONT2

43
120/230VAC

120/230VAC 120/230VAC

120/230VAC

USB
Motion Core

100-230VAC

HB140 
HB240

HX4

B

120/230VAC

C

120/230VAC

D

120/230VAC

252-914-0001-EN2  |  March 2025

Haptic Expander – HX4

HAPTIC EXPANDER – HX4


